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/*

* heat2d-disk-e.c -———- U0 0O0O0OO0O0OO0O0O0O0O00DOO0OO

*

* To compile this program on WS’s in 6701,

* gcc -I/usr/local/include -c call_gnuplot.c
* ccmg heat2d-disk-e.c call_gnuplot.o

* Sample input

oyabunj ./heat2d-e2

Nr, Nt: 20 80

Tmax: 1

T (O 7.66336e-06): 5e-6

A =0.00281057 0O OOOOO
A t(0 5e-06): 5e-3

*/

#include <stdio.h>
#include <math.h>

/* to use matrix, new_matrix() */
#include <matrix.h>

#include "call_gnuplot.h"

double uO(double, double);
double exactu(double, double, double);
double maxnorm(int, int, matrix);

int main()
{
int Nr, Nt, i, j, n, skip, nMax;
double pi, hr, ht, ri, ri2, theta_j, M, ex;
double lambda_r, lambda_t, lambda;
double tau, Tmax, t, dt, s;
matrix u, newu;
char label[100];
/* 00000 oO0OO0ODOOO0OO0O0O0OO0OOODODOOOOO
* 0 0000 (D00 1) O00o0o0oooobooOooooooa
*/

int zentai = 1;

pi = 4.0 * atan(1.0);

/x 000000 =/

printf ("Nr, Nt: ");

scanf ("%d %d", &Nr, &Nt);

if ((u = new_matrix(Nr + 1, Nt + 1)) == NULL) {
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fprintf(stderr, "OO w 000000000O0O0OM";
exit(1);

3

if ((newu = new_matrix(Nr + 1, Nt + 1)) == NULL) {
fprintf(stderr, "O0O newu OJOOOOO0OODOODOO");
exit(1);

}

/x 0000000 */

printf ("Tmax: ");

scanf ("%1f", &Tmax);

/* 000 %/
hr = 1.0 / Nr;
ht = 2 * pi / Nt;

/x 00000000 =/
printf("t (O%g): ",

0.5 * (hr * hr * ht * ht) / (1 + ht * ht));
scanf ("%1f", &tau);

/A r, AO x/

lambda_r = tau / (hr * hr);
lambda_t = tau / (ht * ht);
lambda = lambda_r + lambda_t;

printf("A =Yg OO OOD0OO\n", lambda);

/* 00000000000000 */
printf ("A t(0%g): ", tauw);
scanf ("%1f", &dt);
if (dt < tau) {

dt = tau;

printf ("A =%g\n", dt);
}
skip = rint(dt / tau);

/* GNUPLOT O OO =/
open_gnuplot () ;

/x 000000 %/
for (i = 0; i <= Nr; i++) {
ri = i % hr;
for (j = 0; j <= Nt; j++) {
theta_j = j * ht;
ulil [j] = u0(ri, theta_j);
}
}

/ 000 =/
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nMax = rint(Tmax / tau);
for (n = 1; n <= nMax; n++) {
for (i = 1; i < Nr; i++) {
ri =i * hr;
ri2 = ri *x ri;
for (j = 0; j < Nt; j++) {
int jml = j - 1;
if (jm1 == -1)
jml = Nt - 1;
newul[il[j] = (1 - 2 * lambda_r - 2 * lambda_t / (ri2)) * u[i][j]
+ lambda_r * (ul[i + 1]1[j] + uli - 110D
+ lambda_r * hr / (2 * ri) * (uli + 11[j]1 - uli - 11[jD)
+ lambda_t / (ri2) * (u[il[j + 1] + uli]l[jm1]);

}
}
for (i = 1; i < Nr; i++)
newul[i] [Nt] = newul[i] [0];
/* Dirichlet OO OO =x/
for (j = 0; j <= Nt; j++)
newu[Nr] [j] = 0.0;

/ 00000 =/

s = 0;
for (j = 0; j < Nt; j++)
s += ul1][j];

newu[0] [0] = lambda_r * (4 * (s / Nt - ul[0][0])) + u[0][0];
for (j = 1; j <= Nt; j++)
newu[0] [j] = newu[0] [0];

/* 0000 =/
for (i = 0; i <= Nr; i++)
for (j = 0; j <= Nt; j++)
ulil [j] = newuli] [j1;

t = tau * n;

/* 00000 =/
if (zentai) {
M= 0.0;
for (i = 0; i <= Nr; i++) {
ri = i * hr;
for (j = 0; j <= Nt; j++) {
double e;
theta_j = j * ht;
e = fabs(exactu(ri, theta_j, t) - ulil[j1);
if (e > M)
M= e;
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}
printf ("n=Y%d, norm=lg, t=lg, U O=%g\n",
n, maxnorm(Nr + 1, Nt + 1, u), t, M);
}
else {
ex = exactu(0.0, 0.0, t);
M = fabs(u[0][0] - ex);
printf ("n=Y%d, norm=ig, t=lg, exactu=lg , U0 =Vg\n",
n, maxnorm(Nr + 1, Nt + 1, u), t, ex, M);

}

/* A t000000000000000 %/
if (n % skip == 0) {
t = tau * n;
sprintf (label, "t=Vg", t);
disk(Nr, Nt, u, label);
}
}

close_gnuplot();

return O;

}
/¥ 0000000000 #/
#define muO1 (2.404825557695773)

double exactu(double r, double theta, double t)
{
return exp(- mu0l * muOl * t) * jO(muOl * r);

}

/* 00000 =/
double uO(double r, double theta)
{

return jO(muOl * r);

}

double maxnorm(int m, int n, matrix u)
{

int i, j, i0, jO;

double tmpmax, absu;

i0 = 0;

j0 = 0;

tmpmax = fabs(u[0][0]);

for (i = 0; i < m; i++)

for (j = 0; j < m; j++)
if ((absu = fabs(ul[il[j]1)) > tmpmax) {

I .
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tmpmax = absu;
i0 i
jo
b
printf ("(i,3)=C%d, %", i0, jO);
return tmpmax;

}
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/00000000000000
* heat2d-disk-i.c -- solve the heat equation in a two dimensional disk
* by semi-implicit finite difference method.
*

* To compile this program on WS’s in 6701,

* gcc -I/usr/local/include -c call_gnuplot.c call_ptrilu.c
* or try

* ccmg heat2d-disk-i.c ptrilu.o

*/
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#include <stdio.h>
#include <math.h>

/* to use matrix, new_matrix() */
#include <matrix.h>

/* to use gnuplot */

#include "call_gnuplot.h"

/* to use ptrilu() */

#include "ptrilu.h"

double uO(double, double);
double maxnorm(int, int, matrix);
double exactu(double, double, double);

double pi;

int main()

{

int Nr, Nt, i, j, n, skip, nMax;

double hr, ht, ri, theta_j;

double lambda_r, lambda_t;

double tau, tau_limit, tau_limit2, Tmax, t, dt, s, ex, M;

matrix u, newu;

vector *al, *ad, *au, *ab, *ar, b;

char 1label[100];

/* 00000 oD0O0OD0OO0O000O0OO0OODODODODOOOd

* 0 0000 (OO0 1) ddddoboboboooooooooo
*/

int zentai = 1;
pi = 4.0 * atan(1.0);

/* 00000000000 */

printf ("Nr, Nt: ");

scanf ("%d %d", &Nr, &Nt);

/¥ 0000000000000 *x/

if ((u = new_matrix(Nr + 1, Nt + 1)) == NULL) {
fprintf(stderr, "OO uw 00000000 OOOOM");
exit(1);

}

if ((newu = new_matrix(Nr + 1, Nt + 1)) == NULL) {
fprintf(stderr, "O0O newu OOOOOO0OODOOOO");
exit(1);

}

/* 00 10000000000000000000000 */

al = (vector *) malloc(sizeof(vector *) * Nr);

ad = (vector *) malloc(sizeof (vector *) * Nr);
au = (vector *) malloc(sizeof (vector *) * Nr);
ab = (vector *) malloc(sizeof (vector *) * Nr);
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ar = (vector *) malloc(sizeof (vector *) * Nr);
for (i = 1; 1 < Nr; i++) {
if ((al[i] = new_vector(Nt)) == NULL)
perror("cannot allocate matirx.");
if ((ad[i] = new_vector(Nt)) == NULL)
perror("cannot allocate matirx.");
if ((aul[i] = new_vector(Nt)) == NULL)
perror("cannot allocate matirx.");
if ((ab[i] = new_vector(Nt)) == NULL)
perror("cannot allocate matirx.");
if ((ar[i] = new_vector(Nt)) == NULL)
perror("cannot allocate matirx.");
}
if ((b = new_vector(Nt + 1)) == NULL)
perror("cannot allocate matirx.");

printf ("Tmax: ");
scanf ("%1f", &Tmax);

hr
ht

1.0 / Nr;
2 x pi / Nt;

tau_limit = 0.5 * (hr * hr = ht * ht) / (1 + ht * ht);

tau_limit2 = 0.25 * hr * hr;

printf ("t (DO0O0000000O=%g, A r01/4000000=kg): ",
tau_limit, tau_limit2);

scanf ("}%1f", &tau);

lambda_r
lambda_t

tau / (hr * hr);
tau / (ht * ht);

printf("A t: ");
scanf ("%1£f", &dt);
if (dt < taw) {
dt = tau;
printf ("A t=¥%g\n", dt);
}
skip = rint(dt / tauw);

open_gnuplot () ;

for (i = 0; i <= Nr; i++) {
ri = i * hr;
for (j = 0; j <= Nt; j++) {
theta_j = j * ht;
uli] [j] = uO(ri, theta_j);
}
}
/* 0000000000000 DO0O00O0g =/
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for (i = 1; i < Nr; i++) {
double ri, ri2, d, od;
ri = i * hr;

ri2 = ri * ri;

d=1+ 2 % lambda_t / ri2;

od = -lambda_t / ri2;

for (j = 0; j < Nt; j++) {
ad[i] [j]1 = d;
allil[§] = auli][j] = od;
ab[i1[j] = ar[i][j] = 0.0;

}
ab[i][0] = ab[i]l [Nt - 2] = ar[i]l[0] = ar[i] [Nt - 2] = od;
ptrilu0(Nt, allil, ad[il, aulil, ab[il, ar[il);

}

/ 000000000 =/
nMax = rint(Tmax / tau);
for (n = 1; n <= nMax; n++) {
for (i = 1; i < Nr; i++) {
double alpha, beta;
/+ 00000 */
alpha = lambda_r * (1.0 + 0.5 / 1i);
beta = lambda_r * (1.0 - 0.5 / i);
for (j = 0; j < Nt; j++) {
b[j] = (1 - 2 % lambda_r) * ulil[j] +
alpha * uli + 1][j] + beta * uli - 11[j];
}
/0010000000 =/
ptrisol0(Nt, allil, ad[il, aulil, ablil, ar[i], b);
/= 00000 */
for (j = 0; j < Nt; j++)
newul[i] [j1 = b[jl;
newul[i] [Nt] = b[0];
}
/* OO0 Dirichlet OO OO =*/
for (j = 0; j <= Nt; j++)
newu[Nr] [j] = 0.0;

/ 00 %/
s = 0.0;
for (j = 0; j < Nt; j++)
s += ul1]1[j];
newu[0] [0] = 4 * lambda_r * (s / Nt - u[0][0]) + u[0][0];
for (j = 1; j <= Nt; j++)
newu[0] [j] = newu[0] [0];
/¥ 00 %/

for (i = 0; 1 <= Nr; i++)
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for (j = 0; j <= Nt; j++)
ulil [j1 = newulil [j];

t = n *x tau;
/x 00000 =/
if (zentai) {
M = 0.0;
for (i = 0; i <= Nr; i++) {
ri = i * hr;
for (j = 0; j <= Nt; j++) {
double e;
theta_j = j * ht;
e = fabs(exactu(ri, theta_j, t) - ulil[j1);
if (e > M)
M= e;
}
}
printf ("n=Y%d, norm=lg, t=lg, U O=%g\n",
n, maxnorm(Nr + 1, Nt + 1, u), t, M);
}
else {
ex = exactu(0.0, 0.0, t);
M = fabs(u[0][0] - ex);
printf ("n=Y%d, norm=ig, t=lg, exactu=lg , U0 =Vg\n",
n, maxnorm(Nr + 1, Nt + 1, u), t, ex, M);

}

if (n % skip == 0) {
t = n *x tau;
sprintf (label, "t=Yg", t);
disk(Nr, Nt, u, label);
}
}

close_gnuplot();

return 0;

}

#define muO1 (2.404825557695773)

/* OO0 =/
double uO(double r, double theta)
{
return jO(muOl * r);
}
/* OO0 =/

double exactu(double r, double theta, double t)
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{
return exp(- muOl * muOl * t) * jO(muOl * r);

}

double maxnorm(int m, int n, matrix u)
{

int i, j, 10, jO;

double tmpmax, absu;

i0 = 0;
jo =
tmpmax = fabs(u[0] [0]);

for (i = 0; 1 < m; i++)
for (j = 0; j < mn; j++)
if ((absu = fabs(ul[il[j])) > tmpmax) {
tmpmax = absu;
i0
jo
}
printf("(i,j)=Cd,%d)", 10, jO);
return tmpmax;

i;
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2.3.4 ADIOOOODOOO

/*
* heat2d-disk-adi.c -—- ADIODOO0O0OOOOO0DOOOOODOOOOOOOO
*
* [O0O: http://www.math.meiji.ac.jp/ mk/labo/text/heat-fdm-2.pdf
*/

#include <stdio.h>
#include <stdlib.h>
#include <string.h>
#include <math.h>
#include "ptrilu.h"
#include "trid-lu.h"
/* to use gnuplot */
#define USEGNUPLOT
#ifdef USEGNUPLOT
#include "call_gnuplot.h"
#endif

#define BESSEL

/* 000 */

double uO(double, double);

/* 000 */

double boundary_data(double, double, double);
/* 000 =/

double exactu(double r, double theta, double t);
/* 00000 =/

double maxnorm(int m, int n, matrix u);

/* 000 %/

double PI;

int main()

{
int n, i, j, nMax, NN, Nr, Nt;
double tau, t, Tmax, hr, ht, dt;
double ri, rr, coef_a, coef_b, coef_c, lambda_r, lambda_t, s;
vector b, Bd, Bl, Bu;
matrix Ad, Al, Au, Ab, Ar, U, UU;
int zentai = 1, output = O;
double MaxError;
double tau_limit,tau_limit2;
int skip;
char label[100];

PI = 4.0 * atan(1.0);

/ 000000000 =/
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printf("Tmax: "); scanf(")1f", &Tmax);

/*r, 80000000 =/
printf("Nr, NO : ");
scanf ("%d%d", &Nr, &Nt);

/* 000 %/
hr = 1.0 / Nr;
ht = 2 *x PI / Nt;

tau_limit = 0.5 * (hr * hr * ht * ht) / (1 + ht * ht);

tau_limit2 = 0.25 *x hr * hr;

printf ("t (OO0O0OODO0OOO=%g, A rO01/4000000=%g): ",
tau_limit, tau_limit2);

printf ("t : "); scanf("%1lf", &tau);

printf("000000O00O0O0OODO: "); scanf("/4Llf", &dt);
skip = rint(dt / tauw);

/¥ AN r,\0 x/
lambda_r = tau / (2 * hr * hr);
lambda_t = tau / (2 * ht * ht);

/* 000000 =/

/* 00 10000000000000000 */
NN = (Nt > Nr) ? Nt : Nr;

b = new_vector(NN + 1);

/* 000 =/

U = new_matrix(Nr + 1, Nt + 1);
/* 000 (@OO0) =/

UU = new_matrix(Nr + 1, Nt + 1);
/* 0000000000 B */

Bl = new_vector(Nr + 1);

Bd = new_vector(Nr + 1);

Bu = new_vector(Nr + 1);

/* 00000000 Ai x/

Al = new_matrix(Nr + 1, Nt+1);

Ad = new_matrix(Nr + 1, Nt+1);
Au = new_matrix(Nr + 1, Nt+1);
Ar = new_matrix(Nr + 1, Nt+1);
Ab = new_matrix(Nr + 1, Nt+1);

/+ 00000000 =/
if ((b == NULL) || (U == NULL) || (UU == NULL)
[l (Bd == NULL) || (Bl == NULL) || (Bu == NULL)
|| (Ad == NULL) || (Al == NULL) || (Au == NULL)
Il (Ar == NULL) || (Ab == NULL)) {
fprintf (stderr, "memory allocation error\n");
exit(1);
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}

/ r0000000 BOOO */
for (i = 1; i < Nr; i++) {

Bd[i] = 1.0 + 2 * lambda_r;
B1[i] = - lambda_r * (1.0 - 1.0 / (2 * 1));
Buli] = - lambda_r * (1.0 + 1.0 / (2 * i));

}
/* 0000 BOLUOOODO =/
trilu(Nr - 1, B1 + 1, Bd + 1, Bu + 1);

/0 0000000 Ai OOOOLODOOO =/
for (i = 1; i < Nr; i++) {

ri =i % hr;

rr = ri * ri;

coef_a =1 + 2 * lambda_t / rr;

coef_b = - lambda_t / rr;

for (j = 0; j < Nt; j++) {

A1[i][j] = coef_b; Ad[il[j] = coef_a; Aul[il[j] = coef_b;
Ar[i]l [j] = 0;
Ab[i]l [j] = 0;
}
Ar[i] [0] = coef_b;
Ab[i] [0] = coef_b;
ptriluO(Nt, A1[i], Ad[i], Aulil, Ab[il, Arl[il);
}
/* 0040 x/

for (i = 0; i <= Nr; i++)
for (j = 0; j <= Nt; j++)
U[il[j] = uw0(i * hr, j * ht);

/* GNUPLOT OO0 =*/
#ifdef USEGNUPLOT

open_gnuplot () ;
#endif

/x 0000000000 x/
nMax = rint(Tmax / tau);
for (n = 0; n < nMax; n++) {

/* 0nD0000 n+1/20 %/
/+ 00000000 (oog) =/
s = 0;
for (j = 0; j < Nt; j++)
s += U[1] [j];
UU[0][0] = 4 * lambda_r * (s / Nt - U[0][0]) + U[0][0];
for (j = 1; j <= Nt; j++)
uulo]l [j] = uulo][0];
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/* r00000000 =/
for (j = 0; j < Nt; j++) {
/00000 =/
UU[Nr] [j] = boundary_data(1.0, j * ht, (n + 0.5) * tau);
/ 0000000000000 0O (OO0DOOoOoDOOooobooooaooo) =/
for (i = 1; i < Nr; i++) {
ri =i *x hr;
rr = ri * ri;
coef_a = 1.0 - 2 * lambda_t / rr;
coef_b = lambda_t / rr;

if (j '= 0)

bl[i] = coef_a * U[i]l[j] + coef_b * (U[i]J[j - 1] + ULil[j + 11);
else

bli] = coef_a * U[i][j] + coef_b * (U[i]l[Nt - 1] + U[il[j + 11);

}
/000000000 =/
b[1] += lambda_r * (1 - 1.0 / 2) * UU[0] [j];
b[Nr - 1] += lambda_r * (1 + 1.0 / (2 * (Nr - 1))) * UU[Nr][j];
/ x 00000000 =%/
trisol(Nr - 1, BL + 1, Bd + 1, Bu+ 1, b + 1);
/* UU DO00O00000 =/
for (i = 1; 1 < Nr; i++)
UU[i] [j] = blil;
}
/¥ j=N6 000000000 (OOOOod) =/
for (i = 0; i <= Nr; i++)
UU[i] [Nt] = UU[i] [0];

/* On+1/20000 n+1 0 */
/0 00000000 =/
for (i = 1; 1 < Nr; i++) {
/ 0000000000DO000O (O0oDOoobooooooooo) =/
ri = i *x hr;
rr = hr / (2 * ri);
coef_a =1 - 2 % lambda_r;
coef_b = lambda_r * (1 + rr);
coef_c = lambda_r * (1 - rr);
for (j = 0; j < Nt; j++)
b[j] = coef_a * UU[il[j] + coef_b * UU[1i + 1]1[j] + coef_c * UULi - 1]1[j];

/0 00000000=*/
ptrisolO(Nt, A1[i], Ad[i], Au[il, Ab[il, Ar[i], b);
/U0 0000000040 =/
for (j = 0; j < Nt; j++)
Ulil[j]1 = bljl;
/¥ j=N6 000000000 (DODOoOg) =/
U[i]l [Nt] = U[i][0];
}
/ 00000000 @aOoo) =/
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s = 0;
for (j = 0; j < Nt; j++)
s += UU[1][j];
U[0][0] = 4 * lambda_r * (s / Nt - UU[0][0]) + UU[O][0];
for (j = 1; j <= Nt; j++)
ulol[j]1 = ulo][0];
/00000000 =/
t = (n+ 1) * tau;
for (j = 0; j <= Nt; j++)
U[Nr] [j] = boundary_data(1.0, j * ht, t);

if ((n + 1) % skip == 0) {
/ 0000 (OO0OoOoo) oog =/
if (output)
for (i = 0; i <= Nr; i++) {
for (j = 0; j <= Nt; j++) {
printf("%2d ", j);
printf("%.3f,", ULil[j1);
}
printf ("\n");
}
sprintf (label, "t=Jg", t);
#ifdef USEGNUPLOT
disk(Nr, Nt, U, label);
#endif
/x 00000 =/
if (zentai) {
MaxError = 0.0;
for (i = 0; 1 <= Nr; i++) {
ri =i % hr;
for (j = 0; j <= Nt; j++) {
double e;
e = fabs(exactu(ri, j * ht, t) - U[i]l [j1);
if (e > MaxError)
MaxError = e;
}
}
printf ("n=%d, norm=Ye, t=Jf, O0O=Ye\n",
n + 1, maxnorm(Nr + 1, Nt + 1, U), t, MaxError);
}
else {
double ex = exactu(0.0, 0.0, t);
MaxError = fabs(U[0][0] - ex);
printf ("n=Y%d, norm=Yg, t=lg, exactu=jg , UO=Vg\n",
n, maxnorm(Nr + 1, Nt + 1, U), t, ex, MaxError);
}
}
}

return O;
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#ifdef BESSEL
/* OO0 Dirichlet D0DOO0DOODODO (BesselDOOODOO) %/
#define muO1 (2.404825557695773)

/* 000 %/
double uO(double r, double theta)
{

return jO(muOl * r);

}

/* 000 %/
double exactu(double r, double theta, double t)
{

return exp(- muOl * muOl * t) * jO(muOl * r);

}

/* 000 %/
double boundary_data(double r, double theta, double t)
{
/* 00O Dirichlet OO OO */
return 0.0;
}

#else

/* 000 Dirichlet 0O0OOOOOODOO ... 0000 =/
double uO(double r, double theta)

{

return 1.0;

}

double exactu(double r, double theta, double t)
{

return 1.0;

}

double boundary_data(double r, double theta, double t)
{

return 1.0;

}
#endif

double maxnorm(int m, int n, matrix u)
{

int i, j, ii, jj;

double tmpmax, absu;

ii = 0;

jj = 0;

tmpmax = fabs(u[0] [0]);
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for (i = 0; i < m; i++)
for (j = 0; j < m; j++)
if ((absu = fabs(u[il[j])) > tmpmax) {
tmpmax = absu;
ii = 1i;
ij =3
b
printf("(i,j)=Chd, %", ii, jj);
return tmpmax;
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N.,,NOUOO = 00000000 = s0000000

gobbobooodn

gooobog

hr=1/Nr;ht = 1/Nt;
tau = input(’ tau= ’);
lambda_r=tau/hr~2;lambda_t=tau/ht"2;
r=hr:hr: (Nr-1) /Nr;
s=1/Nr:1/Nr: (Nr-2) /Nr;
ri = lambda_r + (lambda_r*hr)./2x*s;
u=2/Nr:1/Nr: (Nr-1)/Nr;
1i = lambda_r -(lambda_rxhr)./2*u;
di=1-2%lambda_r-(2*lambda_t./(r.*1r));
ti = lambda_t./(r.*r);
diag(di)+diag(ri,1) + diag(li,-1);
diag(ti);
diag(ones((Nt-1),1),1) + diag(ones((Nt-1),1),-1)
+diag(1,Nt-1)+diag(1l,-(Nt-1));
eye(Nt) ;
kron(J,b) + kron(I,a);
zeros ((Nr-1)*Nt+1); A(2: (Nr-1)*Nt+1,2: (Nr-1)*Nt+1) = B;
c zeros (1, (Nr-1)*Nt+1);
c(1,1) =1 - 4 % lambda_r;
for i = 0:Nt-1;
c(1,(Nr-1)*i+2) = 4 * lambda_r/Nt;
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end;

A(1,1: (Nr-1)*Nt+1) = c;
opts.disp = O;
abs(eigs(A,1,’1m’,opts))

gboobooogon

hr = 1/Nr; ht = 1/Nt;
tau = input(’tau= ’);
lambda_r = tau/hr~2; lambda_t = tau/ht~2;
I = eye(Nt);
J = diag(ones(Nt-1,1),1)+diag(ones(Nt-1,1),-1)+diag(1,Nt-1)+diag(1l,-Nt+1);
r = 1/Nr:1/Nr: (Nr-1) /Nr;
di = 1 + 2xlambda_t./(r.*r);
ti = -lambda_t./(r.*r);
a = diag(di); b = diag(ti);
B = kron(I,a) + kron(J,b);
A = zeros((Nr-1)*Nt+1); A(2: (Nr-1)*Nt+1,2: (Nr-1)*Nt+1) = B;
c = zeros(1, (Nr-1)*Nt+1); c(1,1) = 1-4xlambda_r;
for i = 0:Nt-1;
c(1,(Nr-1)*i+2) = 4*xlambda_r/Nt;
end;
A(1,1: (Nr-1)*Nt+1) = c;

fi = 1-2xlambda_r;
s = 1/Nr:1/Nr: (Nr-2)/Nr;
ri = lambda_r + (lambda_r*hr)./2%s;
u = 2/Nr:1/Nr: (Nr-1)/Nr;
1i = lambda_r - (lambda_r*hr)./2*u;
= fi * eye(Nr-1) + diag(ri,1) + diag(li,-1);
= kron(I,d);
= zeros((Nr-1)*Nt+1); D(2:(Nr-1)*Nt+1,2: (Nr-1)*Nt+1) = C;
= zeros (1, (Nr-1)*Nt+1); g(1,1) = 1-4*lambda_r;
or j = 0:Nt-1;
g(1, (Nr-1)*j+2) = 4*xlambda_r/Nt;
end;
D(1,1: (Nr-1)*Nt+1) = g;
F = inv(A)*D;
opts.disp = 0;
abs(eigs(F,1,’1m’,opts))

H0Q O QQ

ADIOOOO (r000A0OO0DODOO0O0OODODODO)

hr = 1/Nr; ht = 1/Nt;
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tau = input(’tau= ’);

lambda_r = tau/hr~2; lambda_t = tau/ht~2;

lambdal_r=lambda_r/2; lambdal_t = lambda_t/2;

I = eye(Nt);

J = diag(ones(Nt-1,1),1)+diag(ones(Nt-1,1),-1)+diag(1,Nt-1)+diag(1l,-Nt+1);
r 1/Nr:1/Nr: (Nr-1)/Nr;

di 1 + 2xlambdal_t./(r.*r);

ti -lambdal_t./(r.*r);

a = diag(di); b = diag(ti);

B = kron(I,a) + kron(J,b);
= zeros((Nr-1)*Nt+1); A(2:(Nr-1)*Nt+1,2: (Nr-1)*Nt+1) = B;
c = zeros(1, (Nr-1)*Nt+1); c(1,1) = 1-4xlambdal_r;

for i = 0:Nt-1;

c(1, (Nr-1)*i+2) = 4xlambdal_r/Nt;
end;
A(L,1: (Nr-1)*Nt+1) = c;

fi = 1-2xlambdal_r;

1/Nr:1/Nr: (Nr-2) /Nr;

ri = lambdal_r + (lambdal_r*hr)./2x*s;
u = 2/Nr:1/Nr: (Nr-1) /Nr;

1i = lambdal_r - (lambdal_r*hr)./2*u;

n
I

d = fi * eye(Nr-1) + diag(ri,1) + diag(li,-1);

C = kron(I,d);

D = zeros((Nr-1)*Nt+1); D(2: (Nr-1)*Nt+1,2: (Nr-1)*Nt+1) = C;
g = zeros(1l, (Nr-1)*Nt+1); g(1,1) = 1-4xlambdal_r;

for j = 0:Nt-1;
g(1, (Nr-1)*j+2) = 4*xlambdal_r/Nt;
end;
D(1,1:(Nr-1)*Nt+1) = g;
F = inv(A)*D;

di = 1 + 2%lambdal_r;

1/Nr:1/Nr: (Nr-2)/Nr;

ri = -lambdal_r - lambdal_r * hr./2x*s;
u = 2/Nr:1/Nr: (Nr-1)/Nr;

1i = -lambdal_r + lambdal_r * hr./2*u;

n
I

a = di*eye(Nr-1) + diag(ri,1) + diag(li,-1);

G = kron(I,a);

H = zeros((Nr-1)#*Nt+1); H(2: (Nr-1)*Nt+1,2: (Nr-1)*Nt+1) = G;
b = zeros(1, (Nr-1)*Nt+1);

b(1,1) =1 - 4 * lambdal_r;
for i = 0:Nt-1;
b(1, (Nr-1)*i+2) = 4*lambdal_r/Nt;
end;
H(1,1: (Nr-1)*Nt+1) = b;

r = 1/Nr:1/Nr: (Nr-1) /Nr;
fi = 1 - 2%lambdal_t./(r.*r);
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ti = lambdal_t./(r.*r);
diag(fi);
diag(ti);
= kron(I,c) + kron(J,d);
zeros ((Nr-1)*Nt+1); L(2:(Nr-1)*Nt+1,2: (Nr-1)*Nt+1) = K;
zeros (1, (Nr-1)*Nt+1);
g(1,1) = 1 - 4 % lambdal_r;
for j = 0:Nt-1;
g(1,(Nr-1)*j+2) = 4+lambdal_r/Nt;
end;
L(1,1:(Nr-1)*Nt+1) = g;

| N a0
|

M = inv(H)*L;

N =F *x M;

opts.disp = 0;
abs(eigs(N,1,’1m’,opts))

eigs(N,2,’1m’ ,opts)
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000000000000000000000000-000000000r(A)<1
gobobo-0000000bbobooogooon

N, =10, Ny = 20
000 T < 1.2484e-05
000 7 < 0.00513

ADI (1)00O00 | r<0.01026

ADI (2)r0O00 | 7 < 2.5031e-05

ADI (1)*(2) V7

N, = 20, Ny = 40
000 7 < 7.81020-07
000 7 < 0.001258

ADI (1600 | 7 < 0.002516

ADI (2)rO00 | 7 < 1.563-06

ADI (1)*(2) V7

goboboboboboboooooooobobbbbouooog-~0bobbobbood
ODoO0oOoOooo0oobOoobooOooADIDODOOOOODOODbOObObOOO
000000000000 ADI(2)D00r0000ooooooooooogd
gbobobooogobbodaodan
OOOADIOO-r0006¢00O0O0OODOOODODOODOODOODOODOO
gboboobb-0b00100000000000D0O0ODOOODODbOOODDO
goob-r0bbouooooobbbobbbuouooooboboboobobboodad
gbobooboobboobbooboobooboboobobooboobbo
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40 OO0 oooyggn

gboobo300gboobuoogaoo

4.1 ADIUO

4.1.1 0O0O0O0OOOOUO

00 ROOO HOOO Q:={(z,y,2);22+y* < R®20< < H}OOOOOO
Dirichlete OO0 OO OOOOO
agood
r=rcosf, y=rsinf, z==z

0D0o0O00O0QooOoooo
Q:={(r0,2);0<r<R, 0<0<2r, 0<z<H}

gobbooodooboo

B _ o tou 1o o
ot orr  ror  r2002 022 B
u(r,0,z,t) = b(r, 0, z,t) ((r,0,z) € 092,t > 0)

u(r, 0, z,0) = uy(r,0, z) ((r,0,2) € 5)

((r,0,z2) € Q,t > 0)

0000000 Q00000000000000000000
00 =T,UTl, UT,
0og

I's:={(R,0,2); 0 €]0,27), z € (0,H)}
[y :={(r,0,0); r€[0,R], 6 €[0,2m)}
ry:={(r,0,H); r€|[0,R], 0 €0,2m)}
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4.1.2 00O

000 N,,Np,N, e NO r>00000

R 2 H
hr = E, he. E, hz —FZ
. / / /
T/3 T/3 7/3
A= L2 M= L0 A= L2
nz' 0T R h2
ogoog

rz000000000 (r;,6),2) 0
ri=th, (0<i<N,), 60;,:=jhy (0<j< Np—1), z,:=kh, (0<k<N,)

goodd
goooobod
thZET

0000O0ADIOOOOODO000O0¢0O0000 0000000+ 1/3,n+2/3
00000000000000000000000
000 u(ri,6;,2,t) 0000 U, 0000000

U.ij ~ u(ry, 05, 2k, te)

)

gbobobogbboogobbooobon kE{O,l,...,NZ}DDDDDUgjkDjD
000000 (x,y,2) = (0,0,2,) 000000000000 DOOOOOOOOO
gboooogooood

Uijr = Ugor (1< j < Np—1)

4.1.3 0000
000000 u(r,0,z) =0b(r,0,2) (r=1000 :=0000 2=1)00

UN? =0(R,6;,2)  (0<j<Ng—1,1<k<N,—1)
UrsY = b(ri,0;,0) (0

(
Un? = by, 0, H)  (0<i<N,,0<j<Ny—1)
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4.1.4 0O00O0OO0O0Or=0000000000O0OO0OOO0O

dodoodooooogogood
Pu  Pu  0*u

N\u =
4T e * 0y? * 022
googg
o Ul —2U5 + Ul o Ugye — 2UGy, + Ug 1k USo k1 — 2USox + Ulo k-1
AU(O, 07 2k tﬁ) = 2 — + h2 + 7 h2 :
4 (Ul + UL g+ U + U 1y Usoe1 — 2Ugor + Ugo -1
h2 4 - UOOk + h2

obobooboobooboobod
gbobobooooboboboooobon

Ng—1 y ' ’
U —2U5y. + U
Au(0,0, 2, ty) = < E 00k> 0,0,k+1 hgok 00,k—1

0od
/+1/3
7/3

No—1
- Ugo,k+1 — 2Uo, + Ugo,k—l
Z Ung Usor 72

N9—1

1
= Ugop + 4 (E Z Uéjk - UgOk) + X2 (Ugo s — 2Us0r + Uso 1)
=0

AU(O’ 07 Zks tf) =

gbooooggn

+1/3
Unor = UOOk

gogbobobooogbobo

415 O»0000n+1/300r0000000000

goggobobbbbobbbbobodoooooooobbob -0Db0Ob0Oo0
gogbbboogobboboooobood

n+1/3 n n+1/3 n+1/3 n+1/3 n+1/3 n+1/3
Ujr " = Ul Ui — 20U, 7 + U, Lk 1 Uigr — Uik
/3 B h2 'r’l- 2h,
4+ 1 U/ i,j+1,k 2Uljk + U i,j—1,k + Uz?},k—l—l 2Uzk] + U]k 1
2 hZ h?

(1<i<N,—1,0<j<Ny—1,1<k<N,—1)
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oo0O /300000000

1 _7'/3_)\T

-
3 ri2h,  2ih2 2

ogooood
Ar
n+1/3 n n+1 3 n+1/3 n+1/3 n+1/3 n+1/3
Uijk /- ijk T z+1]/k - 2Uz]k / + U 1]/kj) _(U7,+1 j/k - U 1j/k)

Ar( 21
)\ n n
+_2(Ui,j+1,k 2U’L]k2 + U i,5—1 k) + )\Z(Ui,j,k-i-l 2Uzgk + U i,5,k— 1)

=

goboooooooooon
1 1
n+1/3 n+1/3 ntl/3
(1+2>\T>ka/ _/\ |:<1—2—Z) Ui—l,j/k+ (1“‘2_2) Uz‘+1,]'/k:|

2A9 n >\9 n n n
(1 T2 2 ) Ui + r2 — (Ul Ul ) + AU g + Ul gmn)

7 3

oobooobooboooboobooobooooboogo N —100000 AD

Ar = (]_ + 2)\7‘)[NT—1 - )\T‘KNT—l

00o0O0ooo
Iy, 1= (N,—1)00000
0 14 A=
1- 4 0 1+ 55
Ky _1:= ' .
L- 2(Nif2) 0 1+ (Nr 2)
1 — st 0

2(N,—1)

O000Oooo o0<j <Ny, 1<k<N,—10000N,—-1000000
Un+1/3bn

Jk
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Ujk = (Uljk 7U2jk 7""UNT71,jk) )
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: 0
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: 0

n 1 \yntl/3
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m:=N,—1, fi=1-"-2\(1<i<N,—1)
rA

7

000000
000D000b, 000000 +1/30000 Ut Uy ’00000000
0ooo

Np—1

1

n+1/3 n+1/3 n n
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7=0
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41.6 On+1/30000n+2/30060000000000
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gbobboogobbbooad
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200\ ;ont2/3 Ao,y ont2/3 n+2/3
<1 + r_2) Uijk /3 - T_g(Ui,jH/,k + Ui,jfl/,k)
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